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Poland
chemistry Years Names Categories Countries

3 economics 1964
5 ) 1968
o literature
= 1972
5 -
o medicine 1976

physics 1980

1. The nobelist who won the prize in physics won her prize 12 years after Ida Ingram..

2. The winner who won the prize in medicine won her prize after the winner from Ireland..
3. The nobelist who won in 1968 didn't win the prize in literature..

4. Casey Carson didn't win in 1964..

5. The nobelist from Australia didn't win the prize in economics..

6. The five nobelists are the winner who won the prize in economics, Sue Simpson, Ida Ingram, the winner who won in
1964 and the winner from Germany..

7. The nobelist from Germany is either the winner who won the prize in physics or the winner who won the prize in
medicine..

8. The nobelist who won the prize in economics won her prize after Casey Carson..
9. Sue Simpson won her prize 12 years after the nobelist from France..

10. Betty Brewer didn't win the prize in economics..
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